& % 5a - 45 9] Q57 obd 2L

@5 @ a+3 ® a-3

@ a*-9 @5a2




2. The 7 Al0] TS Q%S () ol vk e 28

@ 4xy+ 8xz (xy) @3ab + 3ac + 12ad (3a)
® 5a’b —7ab® (a*b?) @ 3x+6x% 4+ 9x (3x?)

® 3a® +6b* (3ab)

~&B

@ 4x(y + 22)

@ 3a(b+ c+4d)
® ab(5a - Tb)

@ 3x(1 + 2x + 3x2)
® 3(a® + 2b?)




@D x2-6x+9 @ 4x% 1 16x - 16
@ ¥+ 12x + 36

@2x2 +4xy+ 4y2
® 2+ duy + 4y

@20 +dxy + 47 = 27+ doy + 47 + 7

= (x_|_2y)2 _|_x2




o2 5 A FA SR Q4R 4 gle AL2?

O x*-16x+64 @ 4x%2 —4x+1
1

® x2 + 8xy + 16y @x2+§x+l

® 2x% — 4xy + 2y?

~&B

@ x* - 16x+ 64 = (x - 8)?
@ 4x? —4x+1=(2x-1)?
® x2 + 8xy + 16y? = (x + 4y)?
® 2x2 - 4xy + 2y% = 2(x — y)?




5.  4a®—12ab + 9b* & A5-E5f SHH?

® (2a+ b)(2a - 9b) @ (2a+ 3b)?
® (a+ b)(da—9b) @) (24 - 3b)*
® (4a+b)(a+9b)

4a2 — 12ab + 9b% = (2a — 3b)?




6.

4x% + Ox + 16 ©] &HAFA0] E o, o]

@® (2x+1)? @ (2x+2)?
@) (2x+ 2y ® (2x5)?

(2x+4)% = 4x® + 16x + 16




&2~ 6xta=(x-b)? & WEL W, ab O ZH& Fotole

> E.

> ®e: ab =27

B

x% = 6x+a=(x—b)>
(x=3)?=(x-b)*
x> —6x+9=(x—b)?
Ta=9, b=3




8. a—4p? & ASEfoIA?

@ (a-2b)* @(a+2b) (a —2b)
® (a+b)(a-4b) @ (a+2)(h-2)
® (a+2b)?

a? - 4b® = a? - (2b)?
= (a+ 2b) (a - 2b)
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9. K+ T7x+102F Aol Ho=g

¥+ 7x+10= (x +5)(x+2)
xR+ (x+2)=2x+7




10. (a+3b) (2a- 1) ANSIAL ), ab ) A%2 Falolat,

> E.

> He: 6

(_(?,_i/i]) =2a° —a+ 6ab - 3b
et A ab O] Al 6 0]t
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® x-6 @ x+6
® x-3 @ x+3

@2

L= FL=]

L= L= ]

1 1
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o19] L 2 + dx+ 4= (x+2)? O|BE,
wlo] Zol7t x + 2 91 BAET Hol7t Aot
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¥ +8x+15= (x+5)(x+3)
“(x+5)-(x+3)=2




13.

Y27} 2a - 7, Wol7F 842 — 30a + 7 ¢l AALZHE o] |2 Ao

Fatelet.

Ch "
| — Y

>
> ®ehl 12a-16

i

8a? - 30a+7= (2
wpetba] Ee|o] Aol

a —
=

7) (da-1)
(2a-17) +

+ (4da-1

)}x2 = 12416 o]},




14. 7127} 3a-11, H017} 2742 - 102a+ 11 Q1 AAZAE o] Ed|9] Aol&
Jatefat,

Ch "
H -

>
> ®etl 240-24

27a%> —102a + 11 = (3a —11) (9a — 1)
wteta] Ealo] ZolE {(Ba-11) + (9a-1)} x 2 = 24a — 24
oltt.




15. x%y-2xy + 3xy? = AFEAS A2

@xy(x +3y-2) @ (x=y)(x+3y)
® (2x-y)(x—3y) @ xy(x—3y-2)

® (x=y)(x-2y)

x%y = 2xy 4 3xy® = xy(x + 3y - 2)




16. 150° - 149> = 150 + 149 & Agst= b R e 542
TEH?

@® a® + 2ab + b* = (a + b)?
@ a?-2ab+b* = (a—b)?
@)a? - 12 = (a+b)(a-b)

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

1502 — 1492 = (150 + 149)(150 — 149) = 150 + 149
m2tA] o] 881 FAL2 a2 -b? = (a+b)(a-b)




oS WA U, 2 -y 4 3(x +1) O A T

x+y= V3, x-y=15

@ V5+ V3 @ 5+ V10 ® Vi0+ V3
@VE+3v3  ® VI5+443

~&B

2=y +3(x+y) = (x+y)(x-y) +3(x+)
=(@x+y)(x-y+3)
= V3(V5+3)
= V15+33




18. a-b=2V3 L W, a®> 4+ b> - 2ab - 3(a—b) - 12 2] 2?7

@)-6v3 @ 1-63 ® 2-6+3
@ 3-6V3 ©® 4-6V3

(EA) = (a-b)* -3(a-b) - 12
=(2V3)2-3x2V3-12
=12-6V3-12=-6V3




19. thee NS AFRalste] S-S P ok g2 A2

@ —6ax - 2bx = —6x(a + 2b)
@ ax®>+ay=a(x+y)
® a(x+y)-b(x+y)=(x+y)—ab
((4)—4x2 +16y? = —4(x + 2y)(x - 2y)
® x(2a-b)+2y(2a-b) —z(2a—-b) = (2a - b)(x - 2y) - z

B

® -2x(3a + b)

@ a(x* +y)

® (x+y)(a-b)

® (2a-b)(x+2y-2z)




20. TFS F A 8x2 -2, 4x2 —4x + 1 9] ZE<Q] Q145 Lsloiat,

8x2—2=2(4x*-1) =2(2x+ 1)(2x - 1)
4x> —4x+1=(2x-1)?




21. og v ot oA A5} (x4 1), (20 -5) L . A~ B
e Fofoler.

Ax2-3x+ B

Ch "
H =

[ 2
[> ®et: A-B=17

~&B )

Ax?> -3x+B=(x+1)(2x-5)
Ax? -3x+B=2x>-3x-5
A=2, B=-5

L A-B=2-(-5)="7




22,

D 2 )3 ® 6

a+b=t2fotH,

t(t-3)+2=1r-3t+2
=(t-1)(r-2)
=(a+b-1)(a+b-2)

DA m+n=1+2=3 0|t




23. x2- (- 6y+9) E A5HsHE?

@ (x-y-5)(x—y+2) @ (x=y+5)(x—y+2)
® (x+y-3)(x-y-3) @ (x+y+3)(x—-y+3)
@ +y-3)(x-y+3)

x* = (- 6y+9)
=x"-(y-3)?
=(x+y-3)(x-y+3)




X(x+2)(x+4) (x+6) + 16 = A5E3|5He FpAolt. (et &
Ao 2.2 A

x(x+2)(x+4)(x+6)+ 16
=x(D) x (x+2)(@) + 16

= (x% 4 6x)(®) + 16

(@) =A 2 std

A2+ 8A+16=(A+4)?=(®)

@ x+5 @ x+3 @ x2+4x+8
(@)x2+6x ® x2+6x+1

B

@D x+6
@ x+4
@ x*+6x+8
®x+6x+4




25. 6xy—8x-9y+ 12 = (ax+b)(cy+d) N a+b+c+d 2 S
T

6xy—8x—9y+ 12 = 2x(3y —4) —-3(3y - 4)
=(2x-3)3y-4)
SLa+b+c+d=-2




